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Th marks
® figures in the margin indicaté ful |

for the questions
it
Answer one question from €& ach U%
UNIT—I
' la ented
‘ Briefly eXplam any two object®” 2
) Programming features. 2 434270
Differentiate the following :
() The logical AND (&) 20 d
. circuit AND (88) and the
\ (i) The traditional “for loop” _
new “for-each loop " y
9,131 ‘for-ea P\ (M o )




2. (g
®

(c)

3. (a)

‘How is bytecbde related to platform

(2)

independence? _ 2

What do you understand by static

methods? What restrictions do static
methods havep 1+3=4

What does an explicit conversion from
an int to g byte do when the value of
the integer-type variable is out of the
range of the byte data type?

UNIT—]]
Answer the following - 1+1+1+1%4

() How do you explicitly invoke &
superclass  constructor from 2

subclasg?

(@) How do you invoke an overridden
Superclasg method from 2
subclass?

(i) HO.W do you prevent a class from
bemg €xtendeqd?p

(iv) How do

) you prevent a method fro™
being overriggeny

What is a checkeq exception, and whet

is an uncheckeq €Xception? What is ﬂ?; 3%
keyword throw‘ used for? 2+1%

( Coﬂﬁﬂued)

59/131

(3)

inge
What are autoboxing and autounboxing

oxing orf
List two instances where az:gaﬁcall}}e
autounboxing may occur autot ’éf1%=31/2

4. (a)

sses
(b) Differentiate between abstract rzl::iate
and interfaces with zp 0
examples. Can a refe.ren £ classes
interface say A access objects 3+1=4
that implements the interfacé

UNIT—III ,
. erics
What is the motivation behmdugse:of the
Explain with an example the o 1+2%73%
wildcard argument in gener 3 written
d an d -
(®)  Explain how files are rea an
=4
using FileInputStream 2+2
FileOutputStream in Javé-

S, (@)

~ d
rs an

; tructo
Discuss any two string cons ples-

6, () X 1o=4
any two string methods Wi 2

an
(b) Design a generic staCk .Classer objects.
class with a stack of integ

- UNIT—IV e applet

" What js ap applet? Discusss cartl) S”:Il'e'
&rchitecture and explain initl that ° 1w
ethods " 544%
destroyO and paintf)] m 1

Usually present in an applet. (Tumoverl

4




(4)

8. What are adapter classes? How can an applet
track mouse clicked events using the
MouseAdapter class? Explain with the help
of programs. L 1+3+3%=T¥

UNIT—V

9. (a) What is JDBC? How do you create a

(b)

10. (a)

(b)

Statement and execute an SQL
statement? 1+3=4

What is servlet? Explain the life cycle of
a servlet. 1+2v4=3%

Answer the fOIIOWing

with respect to
TCP/IP :

_ 2+1+1+270
(@ What are the differences between
SErver socket and client socket?

(ii) How does g client program initiate &
connection?

(iii)) How does a server accept &
connection?

(iv) H?W are data transferred between 2
client anq 5 server?
What is the

Cc
) usage of JDB ’/’
DnverManager class? e 1

¥ %k ok
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